Math 13-3 (10:30 am)—Fall, 2024 Midterm 111 (45 minutes)
D.C. Smolarski, s.J. Friday, November 8, 2024

NOTES:
1. Problems can be written in the green book IN ANY ORDER, but please START

ﬁ:f":{f‘j‘ each problem on a NEW PAGE (EITHER side) and label it properly.
&;‘SM 2. PLEASE label (or underline or ) all ANSWERS clearly.
{?mb e 3. Show your WORK —— partial credit is possible only when all work needed to
obtain an answer is presented legibly.
4. NO CALCULATORS!
|5z 1 (18) Given A =37—27+4k and B = %7+ 57— 4k,
(a) find the angle between A and B,
{b) find the length of the projection of A onto 3.
-22,31 2. (18) Given A and B as in the previous problem, and € = 57+ 37
(a) find A4 x B, and
(b) determine whether A x B is perpendicular to C.

9({3r 3. (22) Given these points: A:(2,1,1), B:(1,2,1), C:(1,1,2).

(a) Find the area of the triangle determined by the points.

(b) Find the equation of a plane containing these same points.

4. (14) Which (if any) of these three lines are parallel? (Give some reasons for your
6 [ e answer. }
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GALEBT O (12) What do the three standard cross-sections of the quadric surface 2% = 2y% — z

look like?
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